Leuze

Technical data sheet
Mounting system
Part no.: 50120425
BTU 300M.5-D12

Contents

- Technical data
- Dimensioned drawings

Figure can vary

Leuze electronic GmbH + Co. KG  info@leuze.com « www.leuze.com

The Sensor People In der Braike 1, 73277 Owen

We reserve the right to make technical changes

Phone: +49 7021 573-0 « Fax: +49 7021 573-199  eng « 2020-12-17 113



Mounting system ¢ Part no.: 50120425 « BTU 300M.5-D12

Technical data

Basic data

Contains

Suitable for

Mechanical data

Standard designation, stainless steel
mounting device

Design of mounting device
Type of fastening, at system
Type of fastening, at device
Type of mounting device

Mounting device material
ITEM-compatible

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

2x M4 mounting nut
2x M4 x 20 screw
2x M4 x 25 screw
2x position washers
10 series sensors
46B series sensors
46C series sensors
8 series sensors
ODSL9

V2A

Mounting system
For 12 mm rod

Sheet-metal mounting

Screw type

Suited for M4 screws

Adjustable
Clampable
Turning, 360°
Stainless steel
No

Classification

Customs tariff number
eCl@ss 5.1.4

eCl@ss 8.0

eCl@ss 9.0

eCl@ss 10.0

eCl@ss 11.0

ETIM 5.0

ETIM 6.0

ETIM 7.0

info@leuze.com * www.leuze.com
Phone: +49 7021 573-0 « Fax: +49 7021 573-199

Leuze

76169990
27279202
27279202
27273701
27273701
27273701
EC002498
EC003015
EC003015

We reserve the right to make technical changes

eng * 2020-12-17

2/3



Mounting system ¢ Part no.: 50120425 « BTU 300M.5-D12

Dimensioned drawings

All dimensions in millimeters

33

24

@ 10/12/14

19,3

4.1

33

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

SW4(2x)

31

info@leuze.com * www.leuze.com

Phone: +49 7021 573-0 « Fax: +49 7021 573-199

We reserve the right to make technical changes
eng * 2020-12-17

3/3



